- Linzar tgmwt-ons
Definition: A Linear qpuatiors in one vayiable s an equat.on Zhat car
be Lritten (n theform ax +6=C, Where a,bandlc are rea
Numbers and @ #
Y+3=-S | the Ké;w:?.‘ exponent (s .
AY-5=4x+] | 3(0d)=g , _
Wt (n 'bge Lorm ax+b=c  but we can r'ewrslle' Zhern i thisLorm.
1neay MEANS Lraicht .['. . :
So when we _grapHa. linear guaton we get a Stright
Line on +the gtdph. & e c/
a !
Yi4SY =l =0 and X3 =§ .
dare Not [linear. 7 hey Aave ,;ﬂmcenfsosroafer than ) (>))
Soluir\j a Lnear @guation
( ’
ropedure: Using +he Addibon Propecty of Epality Lo Salve an £guaton
tep: Detertnine the gperation that t5/U Esolate the Uariable
on one_ side of the ﬂ(omf’an. Ferform +his operation on
each side of the epuation. Keriember the inverse. pro erty
L roaddition: a +HFa)= -a+e =a-a =
Stepd: Simplify each side of the eguation,as necessary.
The result should £ Lhe £orm “
X= Some Num be v Somenbmber =Y
Step3: qhgck +the S /Lnf_'om by Substituting ¢he value (nts £he
riginal equati /
d [
Stepd: Wt he Solution (n set notation
= Xample
X+ /2 =10 il
/2 =) ubtvact j2 Lrom cach gide
%’ =—¢2
“heck
-2A+/3=/0
/0 =/0




)

4(oa-))
774
Y

—_—
=

[ A \/u.\)
S % . ( +o.
ol )— _ /-\Dn ._- : ! —9 _ |LII—I -f”lﬁ@ﬂ
Ol TS T Ay MR o O 9 %
(W ) —_ ™ T O~
oy | oy~ L u o £
X g 1% X nt @LJU._ hoth =
by .7 + e), _& s X 4 o.).,_o [\]]
O S c | O3== g% UL ~2
DO N _ S ~3I% | =8
| LY} _ -+
_ 3 .
(\S) —
3 0’._ C _— i Sy V= — \IU:V..
|°% /an/. Py ) —~ > Nitenmd
._ ol |, X | + IR M++a | /{Wmﬂ
Q-/ — n SN & +.+ : i n 72 O _
s Aelo 31 g 333
<0 Q < ll ~% "7 « g s|S | =
\ ' k "%}
| T i Aﬂ_




Linear /nequal ities

DeCm-éwn .A’(mear (neguality in ore ariable (S an (neguality
0f the Lorm axy+b<c, where_ a,b,andC are real Numbers
With a?o. Nite +hat' a. (cnear (nequality can have any of
the (neguality Symbols -

<,Z2,> or 2

IA+3L=D . TA=AZ 6+, 43y -N< -2(-9)

‘f'\‘mcec/ure So v A; a Lineavr Zne c/a(zz‘

}/
Step I: Clear a renth eses the couation by apolyvin
P" the disttibutive property ANl puation oy aeeYY

Step2: Remove any fractions by mu/z‘i‘p/y/'/zj b/ the LCD

Stera3: Use the additi riperty of @lcty to collect all
" léa-ér’:lab/e fgrm:" l[j)}: 061@ Slg/cyarlc/ 5/17/ ggﬂs’:‘agf;& 'Zermse;cc)na '['he
ey See

Stepy: Use the mult: f//ca{ on propetty of inequality 7.

Coeffricient o the yariablé . emember‘thf{im«[{,p/ ng
or dw:dmﬁ bj G neﬁaf:vc number, veverses the Lnfgu&/
.S;YVI 0

Step s If the megaa[zfy (s a compund ineguality of £he form
A< x < b, then the vacia emus{ba isolated  (n
the middle. Any gperation that (s re guired €o (solate
Lhe variable must be done to all £hree parts of the
L'ne?ua&'éj

Step b Graph the Solution Set.
Step 7. Write the solution set (n interval notation or Set-builder

notation.
09::7(7’"/
Examples - y=0+y 0|y
= 4 "l/O

X+Y < -]

-4 -4 O0=%A+yY

Y <L -5 -4y Y
e—N—F—+—+—++> \ —q=Ix

:Z?nfervaé Vla‘ﬁaf on (“"") -S) —y+
Set-builder notation §£x1x<-S3




aelbh) gy x|y
—4x<y - Y =-4(0) o|o
Yy 4 \ % =0 -l ¢
- \ c N
! 0,0) Y=-Y£1)
1 :
(] ~i O(é: L!
nte n station ,.O")
Set-builder natati | x> _lu . A\
/ . £217 N y=2x+) Ay
-3 1< 7 \ ’ VAR 4 ol
-/ - -] /;‘ 9: é;:,‘)(t?\- -',}_' 0
—y <4 / J=ax4l = -2| 3
a ) d 3|7
-a < 3 / 0 =X+ .
AN {o, ) ~1 Bl /\
‘2 1°) “il=ax |/
: a : a4
17 Natation (-2, j IR
Se der Mitat. n,. r /_; 2
xl-2<x<33 T Un n
9,-3) g7 -3
'Un-'s uf:’or ‘
ol Lujte Lor
+then 3 for;
\+ =3
ADH) = 7 : —
ut these posnt n) table il




